CCNA 2 Module 9 Exam Visual Content.
The question is as follows:

When the “show cdp neighbors” command is issued from Router C, which devices will be displayed…

(Question incomplete refer exam)

The diagram is contains the following devices, two workstations named Workstation 1 and 2, two switches named Switch 1 and 2 and four Router’s named Router A through D.

Workstation 1 is configured with an IP address of 192.168.1.2/24 and it is directly connected to Switch 1 by straight through network cable.  Switch 1 is also connected by straight through cable to Router A’s Fast Ethernet port or Fa0/0.  Router A has it’s Serial Inteface S0/0 configured with an IP address of 192.168.2.1/24.  The serial link from Router A to Router B is established by Serial Link to to Router B’s Serial Interface S0/1 and it has been configured with an IP address of 192.168.2.2/24.  

Router B’s second serial interface S0/0 is in use and has been configured with an IP address 192.168.3.1/24.  This serial link from Router B to Router C is by serial connectivity to Router C’s serial interface S0/1.  Router C’s serial interface 1 S0/1 has been configured with an IP address of 192.168.3.2/24.  Router C second serial interface S0/0 is in use and has been configured with an IP address of 192.168.4.1/24 and is directly connected to Router D’s Serial interface 1.  Serial Interface 1 on Router D has been configured with an IP address of 192.168.4.2/24.  Router D’s Fast Ethernet port is directly connected to Switch 2 by means of straight through cable and also attached to Switch 2 is  Workstation 2 that has been statically assigned 192.168.5.2/24.
The question is as follows:
The network administrator shown in the exhibit can ping the E0 interface of the HAR router, but the Telnet intranet.xyz.com command issued from the administrator’s workstation fails to open a…..

(question incomplete refer exam)

The diagram depicts a person sitting at a host machine, two layer 2 switches, two routers named BOS and HAR, and a intranet server named xyz.com.  The person sitting at the workstation is directly linked to the layer 2 switch by straight through network cable.  Also connected to the layer 2 switch is the router named BOS and this link is established with a straight through network cable.  Router BOS’s Fast Ethernet port is in use and connects itself to the first of the layer two switches.  Router BOS’s Serial interface is in use and connects the BOS router to the HAR router.  The HAR router has one of it’s  serial interfaces in use connecting it to router BOS.  The HAR router also has it’s Fast Ethernet port E0 in use connecting itself to the second of the layer 2 switches.  Connected to the second layer 2 switch is the intranet named xyz.com.
The question is as follows:

After issuing the “show interfaces serial1” command, an administrator notices an increasing number of carrier transitions.  What are the possible causes….

(question incomplete refer exam)

The diagram depicts the output of the “show interfaces serial1” command.

Router# show interfaces serial1

Serial1 is up, line protocol is up

Hardware is HD64570

MTU 1500 bytes, BW 1544 Kbit, DLY 20000 usec,

Reliability 255/255, txload 1/255, rxload 1//255.

---(some output omitted)---

Received 102593 hroadcasts, 0 runts, 0 giants, 0 throttles.

27 input errors, 0 CRC, 1 frame, 0 overrun, 0 ignored, 0 abort

104562 packets output, 6840784 bytes, 0 underruns.

29 output errors, 0 collisions, 0 interface resets

0 output buffer failures, 0 output buffers swapped out

290 carrier transitions.

DCD=up DSR=up DTR=up RTS=up CTS=up

The question is as follows:
When ussuing the “show interfaces serial1” command, a network administrator receives the output shown in the graphic….

(question incomplete refer exam)

 The diagram depicts the output of the “show interfaces serial1” command.

Router# show interfaces serial1

Serial1 is up, line protocol is up

Hardware is HD64570

MTU 1500 bytes, BW 1544 Kbit, DLY 20000 usec,

Reliability 255/255, txload 1/255, rxload 1//255.

---(some output omitted)---

Received 102593 hroadcasts, 0 runts, 0 giants, 0 throttles.

27 input errors, 0 CRC, 1 frame, 0 overrun, 0 ignored, 0 abort

104562 packets output, 6840784 bytes, 0 underruns.

29 output errors, 0 collisions, 0 interface resets

0 output buffer failures, 0 output buffers swapped out

290 carrier transitions.

DCD=up DSR=up DTR=up RTS=up CTS=up

The question is as follows:
After issuing the command “traceroute 192.168.4.2” from Router A, the following information is returned.

Tracing the route to Router_D(192.168.4.2)

1 Router_B(192.168.2.2) 16 msec 16 msec 16 msec

2 ***

3 ***
What can be concluded about the network shown in the graphic based…
(question incomplete refer exam)

The diagram  contains the following devices, two workstations named Workstation 1 and 2, two switches named Switch 1 and 2 and four Router’s named Router A through D.

Workstation 1 is configured with an IP address of 192.168.1.2/24 and it is directly connected to Switch 1 by straight through network cable.  Switch 1 is also connected by straight through cable to Router A’s Fast Ethernet port or Fa0/0.  Router A has it’s Serial Inteface S0/0 configured with an IP address of 192.168.2.1/24.  The serial link from Router A to Router B is established by Serial Link to to Router B’s Serial Interface S0/1 and it has been configured with an IP address of 192.168.2.2/24.  

Router B’s second serial interface S0/0 is in use and has been configured with an IP address 192.168.3.1/24.  This serial link from Router B to Router C is by serial connectivity to Router C’s serial interface S0/1.  Router C’s serial interface 1 S0/1 has been configured with an IP address of 192.168.3.2/24.  Router C second serial interface S0/0 is in use and has been configured with an IP address of 192.168.4.1/24 and is directly connected to Router D’s Serial interface 1.  Serial Interface 1 on Router D has been configured with an IP address of 192.168.4.2/24.  Router D’s Fast Ethernet port is directly connected to Switch 2 by means of straight through cable and also attached to Switch 2 is  Workstation 2 that has been statically assigned 192.168.5.2/24.

The question is as follows:

Consider the RIP network shown in the diagram.  Which entries would be listed in the routing….
(question incomplete refer exam)

The digram depicts two routers named Router A and B linked by serial link to each other.  The Fast Ethernet port on router A is in use and the Fast Ethernet port on router B is in use also.  Route A has it’s Serial interface S0 in use and it is configured with an IP address 192.168.5.2.  Router A’s Fast Ethernet port FA0 is also configured with an IP address of 192.168.10.1 and the network address for the network connected to  Router A’s FA0 port is 192.168.10.0.  The serial link established from Router A to Router B uses serial interfaces on both routers.  Router B’s serial interface S1 is configured with an IP address of 192.168.5.1 and it restricts the boundaries of the 192.168.5.0 network.  Router B’s Fast Ethernet port has been configures with an IP address of 192.168.15.2 and a network address of 192.168.15.0 which covers the entire network connected to Router B’s fast Ethernet port.
